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Answer the following questions from r to 45 up to a maximum Score of g0.

I.

1.

Questions from I to 10 carries I score each.

The family in which men exercise authority and dominance :

(10x1=10)

2.

J.

Say True or False.
orhere is a close relationship between disabirity and poverty.,

Identify the sociologist who stated that Sociology helps to find the connection between'Personal troubles, and .Social 
issues,.

(a) Karl Marx

(c) M,N. Srinivas

4. Complete the flow chart showing structural changes.

Industrialisation

5. Point out the sociologist who coined the concept .dominant 
caste,.

(a) Nuclear family

(c) Matriarchal family

(b) Patriarchal family

(d) Extended family

(b) Max Weber

(d) C.W. Miils

(b) D.P. Mukherjee

(d) M.N. Srinivas

(b) Max Weber

(d) Emile Durkheim

(b) Begum Rokeya

(d) M.G. Ranade

)

6. The concept .Status symbol, was coined by _.

(a) A.R. Desai

(c) G.S" Ghurye

(a) C.W. Mills

(c) Karl Marx

7. Find the author of the book ,Stree purush Tulana,.
(a) Tarabai Shinde

(c) I.P. Desai
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I aSroloE 45 orooao3gg corcn5onodael- gololooogJto.llo, .t-roocorto'l erreleo3a,

80 cogcd orgoiloloog".

I. I a3orc8 10 orooooggg c"-rcaSonodao-l acEcd crllol". (10 x I = 10)

l. oJ]olosiozcd to'o<jilocooJlo cr$(r)loJtoJorlo 
"r3eL6oro3oD 

6rlSlo5'llJo :

(a) GnGrDJeJSlo6rxo (b) oJlol5caocoil.lJ 6]sJo6Txo

(c) acoJcaocoilol a3s3"eru" (d) oilmr"ol5<or 6:]sJo6mo

2, <,oo'lceorcotolcgc.,CIcln"oroaole

' roro oul or @'l o'l <ofl oorlo oc o1 1o5or ;o an ml o8 (6Ia sloro eru ml a;ere"

3. 'or5orcril oroacqD enL3ra.rr1o353og3""'mtco].'o5 (oJ@o6uRQlo'rolaaleLSgg o)ro\Do

aoene<ilorcod crua;oo uoc(olJo m.ocolao3cm;. o6)(m- C"regcoJl4
m) oloouoc (o}e5lo om eo6ne 6lo)]e.

(a) 6co0d ac6o-cru" (b) ace"cru-oor6rxd

(c) M.N. @;lffilorcm)- (d) C.W. alo8mr"

oi Jor crucaoor oEeeroemo

5. 'lotsntaeac<ol'.r6cm oD$flcDo og"Jloo14 m)o;oococ(0ge96loocn eodreoro]o,.

(a) A.R, cocacojl (b) D.P. agordel

(c) G.S. "elgaoJ (d) M.N. @llff o:cm.:-

6.'otoOJl aJlomo' o$(m crus$flcDo O1.fle,o14o)--
(a) C.W. aloEmr" (b) 0c6"m) oorerud

(c) eco6E acda"m.r" (d) .Oa1c8 o3r6oflo

7, '[egfl-".t3o1"u cor]acn' oOCm locnnorofloa] o"-rot1<u)cojlocn eo6rBolo]6.

(a) tococeruco[ nMlo0oau (b) onl'lcno o3oJlcor

(c) I.P. co<rocojl (d) M.G. occnccu.
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Aggressive chauvinism based on religious identity is called

g.Thesocialreformerwhoopenedthefirstschoolforwomeninpune:

(a) Secularism

(c) Regionalism

(a) Mode of livelihood

(c) Region

(b) Communalism

(d) Linguism

(b) Viresalingam

(d) Raja Ram Mohan RoY

(b) Language

(d) PhYsicalcharacteristics

(a) VidYasagar

(c) JYotiba Phule

10. Pick out an acquired trait of triable communities'

(8x2=16)
II. Questions from 11 to 18 carries 2 scores each'

t 1. Differentiate between communalism and secularism'

12. Define commodification'

13. What is dePendencY ratio ?

14. Complete the flow chart showing the three forms of capital'

Cultural CaPital

15. Complete the chart by selecting appropriate name from the bracket'

(Raja Ram Mohan RoY, Ishwar Chandra Vidyasagar)

NewspaPer Started bY

Shome Prakash

Sambad - Kaumudi

4

Forms of CaPital
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8. a(6)mr(olortrrloE Gbdlotnccnoc€o1ao)J@ Gn(eacdyDcaflm-rgo,accor mro+,;oilo)rojoc'RD

"61cm"oi91dolcm].
(a) acrrcrfloc.,-t6si(')

(c) lolcca<rolaolcBo

9. cqfla<.6eocot1 aryo5o* nllua o-r;omoilo8 mmc.,jl4 cruca]ooJ.,-ro1",sl-a6ororco.r-:

(a) olla5cm-rccnd

(c) ce5c<ol1eru ooloel

(a) dlotcmcotc<r-i

(c) (oJGB(oo

(b) oi6urla0o')

(d) Goucolcoo

(b) o-t'lcocroeJlocno

(d) cocecoco cacoooE cocco"

(b) ecosi

(d) aocdlolaocao (orc@Joolaod

I 0. coc6ooil rectn@'nglos aog orgdelor mroil ccoosro) o(ooocrorDsJoo]e,.

II. 11 a3rorc8 18 oroocogg corcoSonodoo- 2 crpc6 ojl<oo. (g x 2 = 16)

I L oidurlao<oacD]o o<off ocoJe,s.l<orao]o o"rm16g orj<o,Jcm)oHsloro'l]6.

I 2. crL cg;3ot o8eo@5rDo oocrocosrDcm- crjl 6ot"jl@o]&.

13. <o'OqgilroccnJoJc(Do o6mlcem-?

14. aSercumoro:,1o0f, aScm-oloJ@Rog mlrndooJcm eoscorc@v".r16cm.r,la,o1oer3e.

ru o oJ c oorojl o o3 o3o: o,n o0

JJJ
.."..... GUCoCBCOI6J OJEJ@CDo

15. ieruceoglo8crflcm"coolaocoor co-rd o@ooorlosSorl"o-rcdg 
"-r3dorofle,o1eo3e.

(ocecoco cocoocd cocQo", glrrolo o.r6cn o.flo5cmco6)

mgm.fuorg<d <orgo"re14roi

GoUCo 6"-fArCOO'

rrucruo:eoa3o1
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16. What is knowledge economY ?

17 , Write a short note on the importance of 73'd amendment to Indian Constitution'

1 8. Differentiate between Sanskritisation and De- Sanskritisation'

III. Questions from 19 to 23 carries 3 scores each'

lg.Differentiatebetweensocialmapandgeographicalmap.

20. Define demographic dividend. In what way it is helpful to a nation ?

. 2L (a) Who coined the term 'Foot loose labour' ?

(b) Who are footloose labourers ?

22, Briefly explain Mancur olson,s theory of social movements'

23. Point out the three key principles that help to explain social stratification'

IV. Questions from 24 to 30 carries 4 scores each'

24. Write a short note on the sociological perspectives on markets and economy' '

(5x3=15)

(7x4=28)

25. Examine how prior knowledge about society influence the study of sociology'

26. Listout any four characteristics of Caste'

2'7. Briefly explain Malthusian theory of population growth'

28. Briefly explain the impact of globalisation on Indian radio.
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16. edroccn oumJdolJoloun ogoo)cflD-?

17 ' pcloJ(Ia co6lT).'ssm(0Jos 73-co creocnofloorSos (.,:ccr,cm5oamao;cri4[ oo3 eJr€JJe;cng 
"gvl<o,ea.

l8' ouoclJco)olo8oooemolJo Grdo.roLroag5rooro8eo@6rDoJlo cnmlog oiJ@Jccru oHSJoroJ@r.

III. 19 o3ro'ro8 23 oloooorgtsB colceJarnordao- 3 cogcd o-llror. (5 x 3 = 15)

19' *,ca].'oj clorsorJo re;alcoctqp eJorso-rJo oraorog orJ.,Jcm)oHsJorore.

20' BCDOUo6',lJ Aoreoiocil<oro os)ooco6rDcm- cnl6otr-r16oJ6. oglroi dl<orionetcom- po; oo3
oce5amnl cri cn;6meoocoScmo,i ?

(a) 'o{')6'r3Jo CnlacorS0oor"eocclor orocp'lelcgl, oocm oreo <oJoJl6014<oio'ocem-? (1)(b) .o@RJ" CnleLco,;ocor"ooc.,, orocprercgflaua ..rgocem-? 
Q)

mcalooj (orouocm@Rogao]01gJgg acodad acoamoop mrler)cooro cr303eo1ot'lotoloo;o

m)calooJ cqgerrfloo6lDooro oLluor{latoleocod m-roocoiloo;on aJCm- a;orJ <oro.lLanr<r3rgeneleercernloo;e.

21.

22.

23.

25.

ry.

24.

26.

27.

24 alaai 30 otooooSgg corcBJa.no0oo- 4 copc6 ollcoro.

crJlo-rern10oorcorJ0 crucruB-aeJSCDOA,a,Jo fiDo6.r1Jff\D.l€OJCm
o c v""-t g c s1 o meoScrl 4[ a @J er o€.r] €,lol *i. .16) eJCDJ6,.

m)o]ooocl0)eololg3pC a;cmcrloi m)a;oooouoc(q3 oJocDo6ro
m-lc<.rJlcnleog(moo)cm"oJo1 coocuiao;a.

e c oil or]er s 
"61 

0 0 oelr a30 cD C ei cru crir ccrc oei ., o cr0 .,-r $ a, oH sJoror6.

B(rtCruo6xJCOLg640cor cruoeoJold@o]Cm acogoroJmrlcoro8 rnr,leoccrolo
oLlotoloo3o

(7 x4 =28)

eru0loococ(qll

cr6)toJac@acoT)-

o-t3o3aet1

28. ectoJoA cooolccorc
crilotoloo3a.

ME.38

@ou)6ro" croc.,cgo.,o8aeroemo Oo, a3o,ol1 oo mrlcojtCno r-r3o3oo1

P.T.O.



t_

30. (a)

(b)

29. write a short note on the different kinds of westernisation in India.

Differentiate between industrialisation and de-industrialisation.

Name two old urban centres that declined as a result of urbanisation in India.

V. Questions from 3l to 37 carries 5 scores each.

31. complete the chart with appropriate items given in brackets.

(Adam Smith, Alfred Gel, Nattukottai Chettiar, Banjaras, Commodification)

(a) Bottled water

(b) Salt trade

(c) Dhorai market
t!
FI

(d) Invisible hand

(e) Traditional merchant community

SSLIVE.IN HSSLIVE.IN

(2)

(2)

(7x5=35)

32. (a)

(b)

Define civil society.

Explain the importance of civil society in modern Indian

33. Write a note on the population policy of India.

34. Analyse the mainstream attitudes towards tribes in India.

35. Explain the social consequences of Green Revorution.

36. Examine the role of pressure groups in democratic politics.

ME-38 8
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29' Qcloiaoilerl6rBc(o) o.rJ<o.,JoAilo<oorolerlgg orccCIrco>J orog6o@6rn6iuRog€o,ol4 eiol
er"€IJ e3o1g rogcoc@o;6.

30. (a) orJolmJcao)oroEeeroemorSo (cno:orJolm)ca0) o.roEoooemo:]o
orJ(o.)JmoHs]olo]e.

(b) pmlSoial5lecao) mu)ooJoE€ooemonlloo! aosacaojl cncrolggc.'rco; .,63ooree;ler;o
@5YE-crl]Oc(6)ff) CnoO6iURgSOs co:dojoAoJe.

(2)

(2)

V. 31 ago'raf 37 orooorSg corcn5oncdocr- 5 copct6 o-ilor.

3 l. 6erucaergloE moEolorloleo3cmorollog crjlcm- c,rom]caocsJocaCIor
I c65i"l36omflao1eerga.

(orgcr-uoqiloro'r", orgoEl.oor. o<nog, cnc5oecooS 001$corc6,
otqggo:o8eo@aDo)

(a) atojlootea"edt

(b) Pgi or5c"-tcoo

(c) oBcooo ioc aonrrl o eL ojl": ernl

(d) GroBgcoJ etOo

(e) oJ (o(IlJO(r)t0.) OlJccrJC(O ODOJBCA0o
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"r2. (a) oJoo m)a]ooo o()orDco6rDcm-crjl6orJl6olo.

(b) orgo3crflo QCtoJCIa masooorofloE oJooouoloooro.,)loof, (orc@coJo
oilcor5laoldolo.

;|3. gctoJcol;os €BOoUooJJc cDcoooroooSolE[aol al]oii.0e3<o36.

ill 4' gclor5oilo8 c(,c((omraloo6Bcgcsl@ aloJJt,lc<oc a ccnceco: ono6 oJluoeei mo ooJ gle.

:i 5. .,ooto oil gororof oop mrca;ooJ (.,rcDJc.'elcroonod oJlca rjrool@oJ6.

'1i6. smc<rllorcor5 oc1",$loo.roroioE mrm6g cruooer@Regos <o6ao.,-roiccacco16or6.

(7x5=35)

oG)@o5roRDSlotol'

ozterolcoao6,

(2)

(3)

P.T.O.
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-37. Match the following :

VI. Questions from 38 to 41 carries 6 scores each.

38. Examine the causes of declining sex-ratio in India.

39. Analyse caste as a discriminatory system.

40. Describe the impact of coionialism on Indian markets.

41. List out the features of Social Movements.

(4x6=24)

VII. Questions from 42 ta 45 earries 8 scores each.

42. Analyse the modern trends in caste systems.

(4 x 8 =32)

43. Analyse communalism as a threat to secularism in India.

44. Describe the changes in Indian industries as a result of globalisation and liberalisation.

45. Explain the impact of globalisation on culture.

=EI

J
th
.h
J.

=trl

J
tn
tt,
I

(A) (B)

Kaka Kalelkar Vedic Authorities for Widow Marriage

Joseph Butler Satyashodak Samaj

M.G. Ranade First backward Class Commission

Jyotiba Phule Sultana's Dream

Begum Rokeya Analogy of Religion
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37. GoJ@JocrISl coJd€oJo :

38 a;ro>og 4l olooco;tsor coJcrrJoncdao_6 copcd oflcoro.
(4x6=24)

goo5colo8 e'flocDcoJo-lccoo *JoofioJ cr@Jcm.orm]pg 6co6TD,o', r"d arcirc<nc.,,,reo3o.

gc.,,oao) oo3 Cr-ricororcD ffu(mJBCA')o og)oD cnreroriog ofloooercno ooJQJ6:.

Qcro,crA o'fro:errr1*gi10g oo,cegcerrilaoelrmronrrl0.j 
cru,cu.Iroo ojruoroo16,,J6.

z
-IJ

J(a
(a
-L

z
IIJ

J
th
ta

vr.

38.

39.

al0.

cor al ei on ccnc crcr mr- -@
ffucolJcuocct-loi mracgo

:rr06Joo.ro 
o.ri ccm coooLi eccn * ;;

*Jf*rrmoJos oDJH"

o'nmcgel Ec.,o" o1 ellslorcrE

4l I' mJCAjooJ (oJCrurcm*BgJOS Cp*iccoos/.,asa 
".,5,a,ogs30.mJc1"

\)1L 42 a;orcg 45 olooaDJgg c":caSonc6oo- g cogrcrd o.llroo.
(4 x 8.= 32)llil gcotl c,3c,mr'roorloer orgco,cnl* (oJoJ6mo a,r.d o'uo_ . _ _. ., rwrq(ro r u ttfO<OreJ0)o O:rJ$]6:.

+-1' 

ffi"Y." 
aorcnloco'to'e1o@'do-el",si6r')',1 

oCIcm cnleroiog ordcrfloo.roor oflcro.oelmo

44 
ffifi:Jxffir;:#ffi#,;1emonrl*igoso oneracoor 

eoorcrd

45' Gro*ocgoJo8oooomo 
ouoopccoorolo8 orerJorolcor mJcu-frmo ofrco,re,ordoJe.
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